H £ 0l & AF & S

20258 =0ila LEHSIH 23 AFR 0t

Al A

SN ABIAR T
I Agelsl 28 A
ool Ljagls o3 29 CERED
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2|3 AR 1t 2,600,324 2,565,546 34,778
Agels 24 1 911,414 1,007,446 296,032
HaA= 2z 24 215,337 359,638 144,301
39 28 & o¥as XN 150,302 294,603 144,301
101 21AH| 15,971 15,971 0
04 JIZtN2Z2XNSE+ 15,971 15,971 0
O3l=E HIIEx 15,971
OJlEZ=s 80,2403 2& »73& 1,716
ORe7d=g 80,2403 x2& » 12 1,926
OJE+E 100,000 x2& =22 400
Odxt=& 90,2403 2 x1d 181
Os4ltl, ust] 10,0003 x2& ~36& 720
O=2d= 7,221,600 *4. 5% 325
(@Faksg-ats: 7,221,6002 %3.545% 257
OLEI Y
256,005% %12.95% A
OnE:d 14,620,320 *1.75% 256
O4tiEe 14,620,320 *1.062% 156
201 Ler23| 98,906 135,096 A36,190
01 At2teltl 77,346 83,536 26,190
Odgt+==H| 32,766
O3 = 2l 3,250
=32 (A3, Hellal)
70,0002 x5 +73] 2,450
- AR Z AL 80,000& x5 12 400
-SER32 80,0003 x5 F*13] 400
OFQULT|E U HHAILAA N2 214
20,0003 202 400
O2d=% M= 30,0002 x1002+13] 3,000
O AAK &2t
10,0002 x500 2 +23 10,000
ONSEEE LA NE ZHS 0IE=
560,000 *12] 560
OZ8=x By ZI28 0182
1,300,000& %12 1,300
O2lg] 010t M=
1,000& 1,0000H 1,000
Ooro|a AZXY (=320, 23/9
4l) 10,0002 +200H*22] 400
OFAHEE 2201 M=
50,0002 «6H 300
OR372 & M
100,000 *90H 9,000
OgArE =% 50,0002 7 M 350
Oggs JISEE 2,106




FA 2ASIAIR
M Xgols 2 X
Rl WERE 28 29 (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
20208 S|HES AFY USB MIA
60,0003 *9H 540
—AHRL QIBH(11x14) 6,600 x10&* 122 792
-AHEl 213}H(8+10) 3,300 *10&+ 122 3%
—AHE QIH(5%7) 5503 *50& 123 330
—AHE QIBH(345) 200&=20& 123 48
Oogd 23lud =29 1,100
-22 =3 NH 6003 *5005 300
=23 & 8,000 %1005 800
o=2g+d 10,090
OZPRAETAARIAS BHHLY
70,0002 x7 13 490
Ogd, 8gle 288
200,000 «2F 122 4,800
OLIAIRI RS S
70,0002 x5 +83] 2,800
OFIN=FE MHSBAE HERESY
200,000 x5 +23] 2,000
=L 4,370
OB US At e U 0|FE Y|
4,370,000 4,370
OZclE 4| 30,120
OYBAAE 2K 24t
1,250,000 x 122 15,000
O LA AE R 244
1,260,000& ~12& 156,120
2 35244l 16,560 16,560 0
0=32= # HAl 10,760
ONsSiEE= 800,000 2CH 1,600
OXS A 350,000 +2CH 700
OSfNE 0|Sde AER
100,000 *1CH* 122 1,200
OHE3|HE(CIOIE) MER(FH) 7,260
-S723 AU 2S5 (500Mops)
605,000 * 12 7,260
OAIE2EbBI=XH 1,300
O2lzlaias R 500,000 500
Ogssgdtl Sl 500,000 500
OFJPIIA ==clbl 150,000 *2CH 300
(ONF=Falt ]l 4,500
olgss 3,000,000 *1CH 3,000
Osgsg 1,500,000 *1CH 1,500
03 Ar=EHI 5,000 36,000 30,000
OSAHESHAl HEX WFHA
5,000,000& 5,000




FA 2ASIAIR
= K|gols] 29 N
el UWeRle Qe 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
202 04l 3,000 3,000
01 2LHoIH 3,000 3,000
o220l 3,000,000& 3,000
203 HR=4Y] 2,700 2,700
03 A=A PR FA| 2,700 2,700
021323 XE HRFA
2,700,000& 2,700
204 MPoeHAH| 10,725 10,725
2 SELR3H 10,725 10,725
otiel sl 10,725
O6= 0lat 50,0002 x13EH «12& 7,800
O AIIM(72)
50,0008 x4 x 122 2,400
ONEPLECERY=)
50,0004 +35/40+ 18« 122 525
301 EtEE S 700 700
14 IIEt2 8= 700 700
OzQ S HIE XK=
70,0002 x32H+23] 420
OFEI £H BN
70,0008 x2H*23] 280
405 KHAHE SH 18,300 105,411 A87,111
01 Tt 2SS F=HI 18,300 105,411 A87,111
OOIEY BFYS M 2
18,300,000 18,300
o3 M2d =2 65,035 65,035 0
201 Ler23| 30,085 30,085
01 At2teltl 30,085 30,085
Odgt+=H| 7,785
EF==
15,0003 xS *10J4 2% 123 7,200
odlRtdE 7= 65,0002 x9= 585
O®Eu=HI 22,300
O2gos N A uSY|
900, 0002 x22E 12| 19,800
OXlgolsl M2y ME A US|
250,000&x10&*13] 2,500
202 04l 31,600 31,600
01 2LHoIH 4,000 4,000
Ol HluAst 4,000,000 4,000
04 =XlI=todbl 21,000 21,000 0
O3 sF=A=Y =& 2 AIZIHE ol
3,500,000 6% 21,000
05 SR W=0| 6,600 6,600 0




FA 2ASIAIR
= K|gols] 29 N
Rl WERE 28 29 (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXlglelsl dzud W=0H|
300,000 x22&H 6,600
203 =] 1,350 1,350
03 A=A PR FA| 1,350 1,350
O2desAE HRFAHI
1,350,000& 1,350
405 KHaHE SH 2,000 2,000
02 =A bl 2,000 2,000
o2 H1EAM 7 50,0002 402 2,000
dgs gdat 696,077 647,808 48,269
eS| H=4 =8 696,077 647,808 48,269
205 2|&lH| 696,077 647,808 48,269
01 28 sHl 162,000 118,800 43,200
(ORIPSE-= =Nl 1,500,000 x0& * 122 162,000
2 3= 265,369 258,897 6.472
(©F=FSEaS) 2,457 120398~ 128 265,369
03 2| =LHOHI 20,520 20,520 0
Ood SEA>
95,0003 x93 ~42] 10,260
02 degs Mg =8 & BAl- & A%
95,0003 *0EH +32 *43 10,260
04 2|2 =20H| 31,500 31,500 0
O2d sF=2 £&
3,500,000 x9H 31,500
05 22 SSEH 49,156 43,950 5,206
02 d2gd 353 49,156,000 49,156
06 2ll2geR=a] 68,163 75,336 AT 173
oo 1,960,200 x 12 * 122 23,523
2o 990,0003x1&~12& 11,880
odyAAE 810,000 x3&~12& 29,160
OuaZMSEAAE
900,0003 1 *43] 3,600
07 SIRAALNLH(SSAE, ML F) 5,600 5,600 0
022 ?Eu=HI| 200,000 x0EH *23] 3,600
212 MtAHlu=8I 1,000,000 22 2,000
08 QIR AN (2I2RIE) 16,200 16,200 0
Oy SIZtAS W =H|
1,800,000 x9S 16,200
09 I3 F IRy 45,000 45,000 0
O3 FIf2y| 5,000,000& 9% 45,000
10 AHEAMFE=S 10,000 10,000 0
OUSU=AIZ A2 HE e F&
= 10,000,000 10,000
N oA=BUASEES 11,942 11,651 291




FA 2ASIAIR
= K|gols] 29 N
o yEsE 43 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CEEETIEECTEE]
265,368,960 *4. 5% 11,942
2 =AU RES 10,627 10,3%4 273
CEEEREETEE
265,368,960 +3.545% 9,408
OLQIINQLEEZ
9,408,000 *12.95% 1,219
HH2LZHI(2BIARD) 1,688,910 1,558,100 130,810
el 2| 1,609,858 1,483,440 126,418
el 2d| 1,609,858 1,483,440 126,418
101 21AH| 1,609,858 1,483,440 126,418
01 2= 1,516,307 1,397,515 118,792
oJlzs 1,095,256
ogers 860,632
52 (HSH) 89,893,000& »4H 369,572
-6=(2058) 4,232,0002 6 ~12& 304,704
-72(10&83) 3,028,000 2H 122 72,672
-8=2(3&3) 2,081,000 ~4H 122 99,888
-9=3s8) 1,983,000 x1&* 122 23,7%
OZIIH 234,624
-72(HSH) 4,888,000 ~4H 122 234,624
OAZ2I=E 115,751
OAte4 12,8442 x17H=3BA 2+ 123 91,707
O=="bId 1, 2& 1
12,8442 %2 +78AI 2t 123 24,044
OHIAZ R AlZtel=Y
12,8442 x 15 *4A | 2t x42 D | 3,083
oxg 92,689
og2=+g 501,060,000& %2/12+0.45 37,580
OJE+E 27,240
- <Xt 40,0002 x19H 122 9,120
-RANE(RL)
20,0002 x14F 122 3,360
-SUNE(RMALA)
30,0002 x14H 12 5,040
-SLINE(SMAA)
70,0003 10 ~12& 8,400
-FLINF(AMAA)
110,000 x1&* 122 1,320
OdZ=gitita 10,680
-5 01gt 30,0008 x4~ 12 1,440
-5~10= O1gt 50,0002 x1& 122 600
-10~154 Olet 60,0002 x 18 * 122 720
-15~20= OJ¢et 80,000 x2&* 122 1,920
20 0l&f 100,0002 x5 *12& 6,000




K
x‘l il-l :
Ct2|:

OIS|IAFR It
A2 ZHI(ASIAMR L)
H24H|

RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
Og2+4 It Jkt= 1,080
-20~25¢ O|gt 10,0003 x3& 123 360
25 Ol&f 30,0008 x2& * 122 720
onezRALY 4,229
52 U2
4,297, 1603 x2H*4.1/100% 122 4,229
O A== 11,400
5= 80,000 »3& * 128 2,880
6= 60,000 6 122 4,320
-7= 0lat 50,0002 7+ 12& 4,200
Ooflgae=g 480
-85 40,0002 x1&* 122 480
OXZEXHI 49,020
O53 250,000& x4 H« 128 12,000
o062, LIIH(73)
185,000 x10F <122 22,200
Ors 180,000& x2&+12& 4,320
O8= Olat 175,000& x5« 122 10,500
OFHUSAHI 140,000& x21F 123 35,280
OZEEFItdI 501,060,000 2/ 12+60% 50,106
O¢ItE 4| 23,122
OB &I (L BHR)
770,739, 0003 *1/12x86%+1/30% 10! 18,413
Ot &I (YD)
234,624,000 * 1/ 12+84%+86%* 1/30% 10! 4,709
Odtatz (L) 52,000,000& 52,000
02 JIeta 2= 38,145 34,005 4,140
OJ122(IIH) 27,981
OAIZIE e Ot
2,331,700 x1&~ 128 27,981
Q&g 840
OB <Xt 40,0003 18+ 12& 480
ORLINE(HMAA)
30,0003 18 * 128 360
OSSR (AIZHEEH OH=)
91,7602 1+ 123 1,102
g EXH| 1,838
OARIEEH IIM(92 &)
175,000 35/40+ 18« 123 1,838
OFNUSAHI 140,000& x 1+ 123 1,680
O IIZAHI(D1HI) 562
OAIZHES R Ot
2,331,700 +84%+86%*1/30%1/7x70Al 218
562
OAIRI A= (LITH) 4,142




SN ABIAR D
M Y RAZHI(ASIAR1L)
el QIEE2E EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAIZIE SR Ol
9,860 * 12 *3BAl 2+ 123 4,142
03 SRA(RIH )22 U2+ 55,406 51,920 3,486
o= 55,406
OJl=Z=(1083)
2,385,100~ 1H« 122 28,622
od2=+g 2,385, 100 40 1H *22] 1,909
OZI4+YIIZ
50,0002 x1& 122 600
OJtE=g 120,000& x 12+ 123 1,440
oIS 50,0002 x1&* 122 600
O A ZAH| 140,000 x1&* 122 1,680
OXR2 x| 175,000 x 12 * 12 2,100
O=g+g 80,0002 x1& 122 960
Og&=Itdl
2,385, 1002 x 1 +60%*22] 2,863
Odxt=g 124,0003 x1& =10 1,240
OAIZt2l =&
15,5002 % 1.5x48A1 2+ 18123 13,392
=238l 79,052 74,660 4,392
JI23Hl 79,052 74,660 4,392
201 et 3| 48,372 43,980 4,392
01 At22t2l] 48,072 43,680 4,392
oggt=ZH] 5,700
OJIZARESE 7Y
5,0002+208 122 1,200
OJIgs HEEgs Y 250,000 250
OSAESA 2 1,900
MM 20,0002 804 At 1,600
B4 30,0002 * 1024 At 300
OZHdoIdEgH EH 7
250,000 x35+13] 750
OJthilet =2l & A22F 7
200,000& 200
OJHHE NE(232E S 2HA)
400,000 *20H 2-%12] 800
Ooga & AUt NE 600,000 600
(©F=FE 23,760
OJ|I2g==d =S44|
9,000 x21*102* 122 22,680
OJN2L2R=E SAHI(S2A)
9,000&x1Ex10& 123 1,080
ogx=z 18,612
Og=J| 48,0002 x120H* 128 6,912
O3J18&7| 25,0003 »9CH 122 2,700




FA 2SIAIR
M Y RAZHI(ASIAR1L)
Chel: J1=2 &l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZ A=A 250,000& «3CH*12& 9,000
2 s5=34l 300 300 0
0332 € MAl 300
ORH= &8R2= 25,0002+ 122 300
202 04| 16,320 16,320
01 =LHOLI 16,320 16,320
OJ|=gRFd 2HEE 0]
20,0003 x21H 32«12 15,120
OJ=YRFT 2UHESHAHBI(SRA)
10,0003 * 1 * 10« 122 1,200
203 =4l 10,160 10,160
01 J122g R4 3,300 3,300
ot 3,300,000& 3,300
02 HRAJMAHA R FAIH| 1,760 1,760 0
©100& DtAI 80,0002 x22H 1,760
M EA2ER=A 5,100 5,100 0
SN2IHF LAY 5,100
OS2I AR (152! 013t
250,000+ 122 3,000
o2/ a (102! 0lat)
175,000« 12& 2,100
204 =243 AY| 4,200 4,200
01 AMGHR A A 4,200 4,200
oOnE(53) 150,000& « 12& 1,800
Od=E?IE(52) 100,000 x2&* 122 2,400




